Solving Trig Equations w/Calculator

In 35 — 48, solve each equation for solutions in the interval [0°, 360°)

35. 3sin6 — sin 0 = 2 36 20

3 —tan" 6@
38. 5sec’f = 6sec O 39. 3cot’6 = cot 6
41. 9sin’0 — 6sin 6 =1 42. 4cos’0 + 4dcos 6= 1
44. 3cot’60—3cot0—1=0 45. sin’0 — 2sin@+3=0
47. cot 6 + 2csc 6 =3 48. 2sinf =1 — 2cos 0

Determine all solutions of each equation in radians.
49. 2sin’x —sinx— 1 =0 50. 2 cos’x + cosx = |
52. 2cos’x + Scosx+2=0 53. cos’x + cosx — 6 =0
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40.
43.
. 2cos’0+2cosB—1=0

51.
54.

sec’f=2tan 6 + 4

8 cos O = cot 0
tan0 +4tanf+2=0

4cos’x—1=0

sinx — sinx = 0



